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Ｂ－Ｂ’断面図（5-0+27.08）
D = 27.088
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Ａ－Ａ’断面図（5-0+37.08）S=1：100
D = 37.088

GH=216.08

DL=210.00

FH=216.48
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工 事 名

工 事 箇 所

図面の種類

事 務 所 名

測量年月日H

縮 尺

設計年月日H

島 田 市 役 所

島田市菊川地内

・　・　・

横 断 図 2 - 2

平成　　年度

図面番号　　　葉中

5-0+27.08 ～ 5-0+37.08

S = 1： 1 0 0
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Ｄ－Ｄ’断面図（5-0+7.08）
D = 7.088

GH=216.33

FH=216.43

DL=210.00

通路幅(2000)

通路幅(2500)

転落防止柵

転落防止柵

転落防止柵B(H=1.1m)

1 : 0.7

1 
: 
1.
0

1 
: 
1.
3

1 
: 
1.
31 : 1.3

1 : 1.1

1 
: 
1.
0

▽(211.46)

▽(208.15)

DL=210.00

6
9
4

10
20

891

転落防止柵B(H=1.1m)

GH=216.49

D = 17.088

FH=216.49

Ｃ－Ｃ’断面図（5-0+17.08付近）S=1：100
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工 事 名

工 事 箇 所

図面の種類

事 務 所 名

測量年月日H

縮 尺

設計年月日H

島 田 市 役 所

島田市菊川地内

・　・　・

横 断 図 2 - 2

平成　　年度

図面番号　　　葉中

5-0+7.08 ～ 5-0+17.08

S = 1： 1 0 0


